EAGRAROBREERT — 2 N— ABISH —F

2020538190 () 19mAFH5H

M oR—fKk C2-=m

‘ [R1%] & ‘ [REBB] — | & (&) 12000 B

[A~&£] 1 7% :1,000,000  ~ 23 :400,000 @

3 7&:250,000 @ 4 7&:150,000 @ 5 #& :100,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. e s i) :13. = . — HiZEZ (KH)
i NEEE DTV o4 o 1(1_3)8 6-5 37.1 5 ?3)7 nglé‘/k
L:70F—=v BFrhhAFILY Exapse]
: it 6 | AHES 1:14.1 3-3 37.9 — 1 468 | REBK (KH)
2 4| X7 b —7 54.0 (1 3/) 45 | ZWeEE
A:First Samurai B:7 5> KA—T v — e
. R - M. 33z -15. - ) _ BEE= (K3#)
N . BEZYEET o Mpirar | s |2 (sl - e || AR
R:Z2Gr T v A —Td7—K—-K B:o—HL-F1+ b i)
= . = > 4 | BAfE— 1:15.2 1-1 39.6 — 3 497 | EEFME (KH)
4|56 77X bRT YT 7 5.0 (1/2) © | @ 7575771
Y9G TSR B:o—I>y SR EHEKE
o A # o8 | REHEZ 1:15.5 7-6 38.8| — 2 478 | AR (KH)
50111 HhXI) T T— 56.0 (1 1/2) (-3) AL
R:TZ27 48— BiHALCRTFHF— faAiv e ]
5 i 4 | PREF 1:15.5 11-9 38.5 — 12 | 428 |ETFEBE (K¥#)
EE g| Y7L A 54.0 (7E) (1) | EHER
RW—2ZYL R B:FFITYR J—ZF—F>
s N HTEHE & 215, - . - IEMErRE (KH)
717110 "j'/‘/;’f'tl/ "4 56.0L ! (125>9 9-10 3.9 4 (4_833) ;2335%—%
LY ELINTy T B:Y—FTN—h N -
& EEEEA :16. = . - AfREFEZ (KH)
glglio| *7L Y Y7 i 4 o 71?:5) 12-12 | 38.2 13 ;1_219) LREE
R:TF1—=TTVI 7 BTHINTET/ J =Y Tr—L
N o= s [EE-FN :16. - . - BAME (k)
91711 Trf x4 TT 7 50 1(11/62>1 4-4 39.7 8 ig)Q '§1§ﬁ2§] )\
RixvyUgdyk BigZ/TalyT BEZZY K
g o S HINER :16. - . = JEEBRIR (KFH)
10 3| =T UnN-2 it 4 o 1(1;3)7 10-8 39.7 7 (4_031) o
LR T b AT —K— K B:EFZIrYaY NG Y
= B4 | FERES 1:16.8 8-11 40.0| - 9 476 | REK (KFH)
111813 U7472X 54.0 (1/2) © HEiti—
N:VZRB—-IZZ8— B:T7I7ILN-h mil 1#

s 4 | BEFA 1:17.6 5-7 na|l - 10 | 445 |EFESE (KH)
12|57 | EAV I x— 54.0 @ e | (&) F==xF-Tn
R:7VA—Y B:YrIA w77 — L4

SHELE_S o4 | Wisst 1:18.2 13-13  [39.2| — 11 459 | BAEET (XF)
EH 5| MITE-F 56.0 3) ) |AHE=
¥R hA7 BULN-Y—2 BTEYS
® I—F—@EBIERL
13—=7-
23—7F—
== 6,9,4,11,7,2,1,13,10,3,8,12,5
41—F— 6,9,4,11,2,1,7,3,8,10,13,12,5
0@ IR
B R 2 810M | | 71 K 2-4 4901 | | # = 2-4 1,020/ | | 3:&=4& 2-4-9 4,130M
# B 2 280M 2-9 1,310 B 2-4 3,210 EE 2-4-9 25,910
4 1509 4-9 590M B = 2-4 900M
9 240M B H 2-4 2,310

ARICOVWTRDTEEERROODE. TR LI,



